
https://www.passapply.com/e20-361.html
2024 Latest passapply E20-361 PDF and VCE dumps Download

 

 

 

E20-361Q&As

Network Attached Storage (NAS) Implementation Exam

Pass EMC E20-361 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/e20-361.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

 

 

E20-361 PDF Dumps | E20-361 Practice Test | E20-361 Braindumps                                1 / 4

https://www.passapply.com/e20-361.html
https://www.passapply.com/e20-361.html
https://www.passapply.com/e20-361.html


https://www.passapply.com/e20-361.html
2024 Latest passapply E20-361 PDF and VCE dumps Download

QUESTION 1

What is one requirement for creating a file system on the Celerra? 

A. A 1 MB. metavolume must be created 

B. A 1 MB. slice volume must be created 

C. Must reside on a non-root metavolume that is not in use 

D. Must reside on a non-root slice volume that is not in use 

Correct Answer: C 

 

QUESTION 2

Which failover policy will allow a primary Data Mover to fail without causing a standby to take over? 

A. Auto 

B. Manual 

C. Offline 

D. Passive 

Correct Answer: B 

 

QUESTION 3

Which Celerra NS component is supplied with power by the SPS? 

A. AUX SPE 

B. Control Station 

C. First Data Mover 

D. Second DAE2 

Correct Answer: A 

 

QUESTION 4

Click the Exhibit button. 

Which Celerra NS system does this cabling diagram represent? 
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A. Gateway direct-attached 

B. Gateway fabric-attached 

C. Integrated 

D. Integrated single Data Mover 

Correct Answer: C 

 

QUESTION 5

Which improvement is made when converting an NS gateway system direct-connect to a fabric- connect? 

A. BE port utilization 

B. BE redundancy 

C. FE port utilization 

D. FE redundancy 

Correct Answer: C 
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